Задача № 98 (слайд 1)
    Решение: В  ∆ АВС и  ∆ А1В1С1 : АВ= А1В1,  АС=А1С1,∟А=∟А1,  тогда ∆ АВС= ∆ А1В1С1        по  двум  сторонам  и углу  между ними.

   Т.к. АР=А1Р1  и  АВ=А1В1  ,  то   РВ=Р1В1.

   Т.к.∆ АВС= ∆ А1В1С1, то  ВС= В1С1 ,∟В=∟В1.  Тогда  ∆ ВРС=  ∆ В1Р1С1  по двум сторонам  и углу между ними.

    Задача  №  99 (слайд 2)
     Решение: АС=АD,  АВ=АЕ,  тогда ∆ ABD = ∆ AEC по двум сторонам  и углу между ними (∟А- общий).

     Т.к.∆ ABD = ∆ АЕС, то∟ABD=∟AEC.∟CBD  и ∟ABD-смежные,  тогда ∟CBD= 180o-∟ABD.

    ∟AEC и ∟DEC- смежные, тогда ∟DEC=180o-∟AEC.

     Т.к. ∟ABD=∟AEC, то ∟CBD=∟DEC.

